

NITRILE GLOVE ORDER FORM

Call 877.484.6149 • FAX 517.484.5460 • associationgloves.com



Date _____



Name _____ Contact _____

Address _____ CITY _____ STATE _____ ZIP _____

Phone _____ Fax _____ Email _____

CREDIT CARD INFO: Visa MC Discover American Express

Name on card _____

Card #: _____ Exp. date: _____

NITRILE	#/Box	\$/100	XS	S	M	L	XL	XXL	Case price	TOTAL		
Ansell Micro-Touch Denta-Glove, textured, blue	100/box	\$6.42						N/A	\$64.25			
Ansell Micro-Touch, textured	200/box	\$6.95						N/A	\$139.00			
BeeSure Nitrile, textured, blue	100/box	\$6.92						N/A	\$69.25			
BeeSure Glacier, textured, glacier blue	300/box	\$4.93 \$4.08					N/A	N/A	\$141.25 \$122.50			
BeeSure Slim, micro-textured, white	200/box	\$5.63						N/A	\$112.75			
BeeSure SuperSlim, textured, blue	300/box	\$4.93					N/A	N/A	\$147.75			
Cranberry AquaSource, moisturized, textured	200/box	\$6.45						N/A	\$129.00			
Cranberry Contour Plus, moisturized, micro-roughened	100/box	\$8.30						N/A	\$83.00			
Cranberry Contour, micro-roughened, blue	100/box	\$8.10						N/A	\$81.00			
Cranberry Crave, lanolin and vitamin E, micro-roughened, blue	200/box	\$5.50						N/A	\$110.00			
Cranberry Evolve, textured fingertips, blue	300/box	\$5.18						N/A	\$155.50			
Cranberry Revo200, textured, blue	200/box	\$5.81						N/A	\$116.25			
Cranberry Truly200, textured, sky blue	200/box	\$6.06						N/A	\$121.25			
Cranberry Transcend, low dermatitis potential, textured	300/box	\$4.80 \$4.15						N/A	\$144.00 \$124.75			
Cranberry XLIM, smooth, neo-blue	100/box	\$7.47						N/A	\$74.75			
Halyard Health Aquasoft, textured fingertips, blue <small>BUY 8 BOXES GET 2 BOXES FREE! EFFECTIVE 1/1/18-3/31/18</small>	300/box	\$4.99					250/BOX	N/A	\$149.75			
Halyard Health Lavender, textured <small>BUY 8 BOXES GET 2 BOXES FREE! EFFECTIVE 1/1/18-3/31/18</small>	250/box	\$6.81						N/A	\$170.25			
Halyard Health Safeskin Purple, textured <small>BUY 8 BOXES GET 2 BOXES FREE! EFFECTIVE 1/1/18-3/31/18</small>	100/box	\$10.27						N/A	\$104.00			
Halyard Health Sterling, textured <small>BUY 8 BOXES GET 2 BOXES FREE! EFFECTIVE 1/1/18-3/31/18</small>	200/box	\$8.17						N/A	\$163.50			
IHC Pulse, textured, dark lavender blue	200/box	\$5.67							\$113.50			
IHC Nitriderm Ultra Blue, textured	100/box	\$6.75							\$67.50			
IHC ProDermXR Sky Blue, textured, thinfilm	250/box	\$4.76						N/A	\$119.00			
IHC Nitriderm 100, textured	100/box	\$6.02						N/A	\$60.25			
IHC Nitriderm UltraWhite, textured, thinfilm, white	100/box	\$6.50						N/A	\$65.00			
IHC Nitriderm COATS, colloidal oatmeal, textured, therapeutic	200/box	\$6.02						N/A	\$120.50			
Microflex FreeForm SE, textured, blue	100/box	\$12.62						N/A	\$126.25			
Microflex MidKnight, textured, black	100/box	\$11.37							\$113.75			
Microflex Performance, textured, light blue	200/box	\$5.42						N/A	\$108.25			
Microflex Ultraform, textured, blue	300/box	\$6.55	XS	XSS	S	S/M	M	M/L	L	XL	N/A	\$196.50
Microflex Sensation, low dermatitis, textured, blue	100/box	\$7.80							N/A	\$78.00		

More on reverse side. Latex, vinyl/synthetic and chloroprene gloves also available.

Subtotal

Tax if in MI, NC, SC, VA

TOTAL

NITRILE GLOVE ORDER FORM

Call 877.484.6149 • FAX 517.484.5460 • associationgloves.com



Date _____

Name _____ Contact _____

Address _____ CITY _____ STATE _____ ZIP _____

Phone _____ Fax _____ Email _____

CREDIT CARD INFO: Visa MC Discover American Express

Name on card _____

Card #: _____ Exp. date: _____



NITRILE (continued from previous page)	#/Box	\$/100	XS	S	M	L	XL	XXL	Case price	TOTAL
Microflex Supreno SE, textured, blue	100/box	\$12.75							\$127.75	
Microflex Soft White, textured, white	100/box	\$8.92							\$89.25	
Microflex UltraSense, textured, blue	100/box	\$9.92							\$99.25	
Microflex XCEED, textured, blue	250/box	\$7.00							\$175.00	
Sempermed Best Touch, Aloe and Vitamin E, textured, blue	200/box	\$6.45						N/A	\$129.00	
Sempermed StarMed Rose, Aloe and Vitamin E, textured, pink	200/box	\$6.59						N/A	\$131.75	
Sempermed SemperSure, low dermatitis, textured, blue	200/box	\$7.35						N/A	\$147.00	
Sempermed StarMed Plus, textured, blue	300/box (XL 250/BOX)	\$4.82						N/A	\$144.50	
Sempermed StarMed Ultra, textured, blue	250/box	\$5.61						N/A	\$140.25	
Sempermed Tender Touch, textured, blue	200/box	\$5.90						N/A	\$118.00	
FITTED NITRILE	#/Box	\$/100	6	6.5	7	7.5	8	8.5	Case price	TOTAL
Cranberry Curve Fitted, textured, white	50 pairs/box	\$7.85							\$78.50	
Crosstex Fitted, textured, blue	50 pairs/box	\$20.17	N/A		N/A	N/A			\$180.00	
FLAVORED NITRILE	#/Box	\$/100	XS	S	M	L	XL	XXL	Case price	TOTAL
Plak Smacker White Cherry Flavored Perfect Touch, textured, white	100/box	\$8.67					N/A	N/A	\$86.75	
Plak Smacker Vanilla Flavored Perfect Touch, textured, blue	100/box	\$8.67					N/A	N/A	\$86.75	
Plak Smacker White Cherry Flavored Perfect Touch, textured, white	200/box	\$7.70					N/A	N/A	\$154.00	
Plak Smacker Vanilla Flavored Perfect Touch, textured, blue	200/box	\$7.70					N/A	N/A	\$154.00	
STERILE NON-SURGICAL GLOVES	#/Box	\$/pair	XS	S	M	L	XL	XXL	Case price	TOTAL
Halyard Sterling Nitrile, sterile, textured*	50 pairs/box	\$0.82	N/A				N/A	N/A	\$166.00	
Halyard Purple Nitrile, sterile, textured*	50 pairs/box	\$0.86	N/A				N/A	N/A	\$171.50	
<i>More on reverse side. Latex, vinyl/synthetic and chloroprene gloves also available.</i>									Subtotal	
*4 boxes per case. Sterile and surgical gloves contain 6 boxes per case.									Tax if in MI, NC, SC, VA	
All gloves sold by the case; each case contains 10 boxes of gloves.									TOTAL	

Call 877.484.6149 • FAX 517.484.5460 • associationgloves.com • Download the free app!

LATEX, CHLOROPRENE AND VINYL ORDER FORM



Call 877.484.6149 • FAX 517.484.5460 • associationgloves.com

Date _____



Name _____ Contact _____

Address _____ CITY _____ STATE _____ ZIP _____

Phone _____ Fax _____ Email _____

CREDIT CARD INFO: Visa MC Discover American Express

Name on card _____

Card #: _____ - _____ - _____ - _____ Exp. date: _____ - _____

LATEX STERILE SURGICAL GLOVES	#/Box	\$/pair	6	6.5	7	7.5	8	8.5	Case price	TOTAL
Sempered Supreme Latex, fitted, powder-free, Sizes are 5.5-9.0 size(s) needed _____	50 pairs/box [6 boxes per case]	\$1.09							\$327.00	
CHLOROPRENE/NEOPRENE	#/Box	\$/100	XS	S	M	L	XL	XXL	Case price	TOTAL
Ansell Micro-Touch Affinity, green	100/box	\$10.01	N/A					N/A	\$101.00	
Ansell Micro-Touch DentaGlove Neoprene, thin, green	100/box	\$7.02						N/A	\$70.25	
BeeSure NeoGrene, textured, thin, bright green	200/box	\$7.48 \$5.80						N/A	\$149.50 \$116.00	
Cranberry AquaPrene, textured, thin, aqua	200/box	\$7.76 \$7.08						N/A	\$155.50 \$141.50	
Halyard Flexaprene Green, thin, textured BUY 9 BOXES GET 2 BOXES FREE! EFFECTIVE 1/1/18-3/31/18*	200/box	\$7.06						N/A	\$141.25	
IHC Pulse CR Pink, textured, thin	200/box	\$8.86						N/A	\$177.25	
IHC Pulse CR Aqua, textured, thin	200/box	\$8.83						N/A	\$172.50	
Microflex NeoPro, textured, green	100/box	\$12.75						N/A	\$127.50	
Microflex Neogard, textured, green	100/box	\$10.90						N/A	\$109.00	
TruFit, textured, green	100/box	\$10.40					N/A	N/A	\$104.00	
TruFit textured, pink	100/box	\$10.40				N/A	N/A	N/A	\$104.00	
CHLOROPRENE STERILE SURGICAL	#/Box	\$/pair	6	6.5	7	7.5	8	8.5	Case price	TOTAL
Sempered Syntegra, Chloroprene, fitted	40 pairs/box [6 boxes per case]	\$3.98						N/A	\$478.00	
VINYL EXAM GLOVES	#/Box	\$/100	XS	S	M	L	XL	XXL	Case price	TOTAL
Ansell Micro-Touch Elite, smooth	100/box	\$6.60	N/A					N/A	\$66.00	
Cranberry Softouch, textured	100/box	\$5.45						N/A	\$54.50	
IHC DermAssist, powder-free, smooth	100/box	\$4.52						N/A	\$45.25	
IHC DermAssist Stretch, smooth	100/box	\$4.67						N/A	\$46.75	
Microflex Derma Free, smooth	100/box	\$6.22						N/A	\$62.25	
Sempered SemperCare, smooth	100/box	\$5.47						N/A	\$54.75	
Sempered Synthetic, smooth	100/box	\$4.77						N/A	\$47.75	
<i>More on reverse side. Nitrile and latex gloves also available.</i>									Subtotal	
* 11th box ships separately									Tax if in MI, NC, SC, VA	
All gloves sold by the case; each case contains 10 boxes of gloves. Sterile and surgical gloves contain 6 boxes/case.									TOTAL	

LATEX ORDER FORM

Call **877.484.6149** • FAX **517.484.5460** • associationgloves.com



Date _____



Name _____ Contact _____

Address _____

CITY

STATE

ZIP

Phone _____ Fax _____ Email _____

CREDIT CARD INFO: Visa MC Discover American Express

Name on card _____

LATEX	#/Box	\$/100	XS	S	M	L	XL	XXL	Case price	TOTAL	
Ansell Micro-Touch Plus Latex, textured	150/box	\$8.20						N/A	\$123.00		
Ansell Micro-Touch NextStep Latex, textured, green	100/box	\$9.50						N/A	\$95.00		
BeeSure Latex, textured	100/box	\$7.85						N/A	\$78.50		
Cranberry Cyntek, citrus-mint scented, moisturized, textured, green	100/box	\$9.60						N/A	\$96.00		
Cranberry Sigma, micro-roughened	100/box	\$8.60						N/A	\$86.00		
Cranberry Silkcare, micro-roughened, moisturized	100/box	\$9.35						N/A	\$93.50		
IHC DermaGold, smooth	100/box	\$7.35						N/A	\$73.50		
IHC ProDerm, textured	100/box	\$5.85						N/A	\$58.50		
IHC DermAssist COATS, textured	100/box	\$7.27						N/A	\$72.75		
Microflex ComfortGrip, textured	100/box	\$10.20						N/A	\$102.00		
Microflex Color Touch Pink, scented, textured	100/box	\$10.72					N/A	N/A	\$107.25		
Microflex Diamond Grip, textured	100/box	\$12.70						N/A	\$127.00		
Microflex Diamond Grip Plus, textured	100/box	\$10.60						N/A	\$106.00		
Microflex Evolution One, textured	100/box	\$14.12						N/A	\$141.25		
Sempermed Best Touch Aloe & Vitamin E, textured	100/box	\$7.80						N/A	\$78.00		
Sempermed Polymed, textured, limited supply	100/box	\$6.75						N/A	\$66.75		
Sempermed StarMed, textured	100/box	\$6.62						N/A	\$66.25		
FITTED LATEX	#/Box	\$/100	6	6.5	7	7.5	8	8.5	9	Case price	TOTAL
Cranberry Silkcare, fitted micro-roughened, moisturized	50 pairs/box	\$10.35						N/A	N/A	\$103.50	
FLAVORED LATEX	#/Box	\$/100	XS	S	M	L	XL	XXL	Case price	TOTAL	
PlakSmacker Cherry Flavored, Perfect Touch, textured, pink	100/box	\$10.67					N/A	N/A	\$106.75		
PlakSmacker Tropical Fruit Flavored, Perfect Touch, textured, yellow	100/box	\$10.67					N/A	N/A	\$106.75		
PlakSmacker Mint Flavored, Perfect Touch, textured, white	100/box	\$10.67				N/A	N/A	N/A	\$106.75		
PlakSmacker Bubble Gum Flavored, Perfect Touch, textured, blue	100/box	\$10.67					N/A	N/A	\$106.75		
PlakSmacker Grape Flavored, Perfect Touch, textured, purple	100/box	\$10.67					N/A	N/A	\$106.75		
PlakSmacker Green Apple Flavored, Perfect Touch, textured, green	100/box	\$10.67					N/A	N/A	\$106.75		
<i>More on reverse side. Nitrile, vinyl/synthetic and chloroprene gloves also available.</i>									Subtotal		
									Tax if in MI, NC, SC, VA		
<i>All gloves sold by the case; each case contains 10 boxes of gloves.</i>									TOTAL		

MASK ORDER FORM

Call **877.484.6149** • FAX **517.484.5460** • associationgloves.com

Date _____



Name _____ Contact _____

Address _____ CITY _____ STATE _____ ZIP _____

Phone _____ Fax _____ Email _____

CREDIT CARD INFO: Visa MC Discover American Express

Name on card _____

Card #: _____ Exp. date: _____

EARLOOP MASKS (PROCEDURE MASKS)	SKU	# per box/sleeve/case	\$/box	Case price	Case qty	TOTAL
Halyard Procedure Mask, blue	47080	50 per box/10 per case	\$6.60	\$66.00		
Halyard Level 1 Fluidshield SO SOFT <input type="checkbox"/> Yellow (25867)___qty <input type="checkbox"/> Lav (25868)___qty <input type="checkbox"/> Blue (25869)___qty	See color codes on left	50 per box/10 per case	\$7.28	\$72.75		
Halyard Level 1 Fluidshield SO SOFT, fog-free, white	41802	50 per box/10 per case	\$7.50	\$74.75		
Halyard Level 2 Fluidshield, blue	28810	50 per box/10 per case	\$10.00	\$100.00		
Halyard Level 3 Fluidshield, fog-free, orange	28797	40 per box/10 per case	\$8.90	\$89.00		
Halyard Level 3 SO SOFT, fog-free, orange	47107	40 per box/10 per case	\$10.78	\$107.75		
BeeSure Traditional Level 2						
Dye-free, chemical-free cellulose inner <input type="checkbox"/> White (BE2100W)___qty <input type="checkbox"/> Blue (BE2100B)___qty <input type="checkbox"/> Yellow (BE2100Y)___qty		50 per box/8 per case	\$4.22	\$33.75		
BeeSure Floral Level 2						
Dye-free, chemical-free CoolSilk inner <input type="checkbox"/> Hibiscus pink (BE2300)___qty <input type="checkbox"/> Plumeria blue (BE2310)___qty <input type="checkbox"/> Orchid purple (BE2320)___qty <input type="checkbox"/> Daisy yellow (BE2330)___qty <input type="checkbox"/> Fern green (BE2340)___qty		50 per box/8 per case	\$6.83	\$54.50		
BeeSure Naturals Level 2						
Dye-free, chemical-free inner <input type="checkbox"/> Canyon red (BE2410)___qty <input type="checkbox"/> Glacier blue (BE2420)___qty <input type="checkbox"/> Cloud white (BE2430)___qty <input type="checkbox"/> Forest green (BE2440)___qty SALE! \$50.75 per case		50 per box/8 per case	\$7.13	\$57.00		
BeeSure Vibe Level 3						
Pinches at top and bottom, anti-fog flap, <input type="checkbox"/> Luminous blue (BE2500)___qty <input type="checkbox"/> Glamorous pink (BE2530)___qty <input type="checkbox"/> Dazzling green (BE2510)___qty		50 per box/8 per case	\$9.03	\$72.75		
Cranberry S3 ACE Level 2						
S3 ACE masks, breathe E-Z filter, aloe vera, vitamins C and E <input type="checkbox"/> White (S3080W)___qty <input type="checkbox"/> Blue (S3080B)___qty <input type="checkbox"/> Pink (S3080P)___qty <input type="checkbox"/> Lav (S3080L)___qty	See color codes on left	50 per box/8 per case	\$6.63	\$53.00		
Cranberry 360 Level 2						
360 mask, contoured for improved fit, fewer gaps, fog-free <input type="checkbox"/> White, small (Q2810W)___qty <input type="checkbox"/> Blue, regular (Q2811B)___qty	See color/size codes on left	40 per box/8 per case	\$10.53	\$84.25		
Cranberry 360 Level 3						
360 mask, HydroGuard® protection, contoured for improved fit, fewer gaps, fog-free <input type="checkbox"/> Small silver (Q2860S)___qty <input type="checkbox"/> Reg blue (Q2861B)___qty	See color/size codes on left	40 per box/8 per case	\$10.53 \$9.65	\$84.25 \$77.25		
Cranberry Repel Anti-fog Level 3						
4-ply fluid resistance w/HydroGuard® layer, anti-fog <input type="checkbox"/> Sapphire blue (R2970SA)___qty <input type="checkbox"/> Pearl/silver (R2970SI)___qty	See color codes on left	50 per box/8 per case	\$8.71 \$7.85	\$69.75 \$62.78		
WRAP-AROUND VISOR						
Halyard Level 1 Fluidshield SO SOFT, Wrap-around Visor, white	41803	25 per box/4 per case	\$21.31	\$85.25		
Halyard Level 2 Fluidshield, Wrap-around Visor, blue, fog-free	28821	25 per box/4 per case	\$18.75	\$75.50		
Halyard Level 3 Fluidshield, Wrap-around Visor, fog-free, orange	28800	25 per box/4 per case	\$24.87	\$99.50		
HALYARD MASKS: BUY 8 BOXES OF MASKS, GET 2 BOXES FREE! TIE & WRAP-AROUNDS BUY 1 CASE, GET 2 BOXES FREE!					Subtotal	
<i>Masks sold by the case only. Number of boxes per case vary as indicated. Priced per box for comparative purposes.</i>					Tax if in MI, NC, SC, VA	
Effective 1/1/18-3/31/18 • Prices subject to change • PROMO Q118					TOTAL	

CROSSTEX MASK ORDER FORM

Call 877.484.6149 • FAX 517.484.5460 • associationgloves.com



Date _____



Name _____ Contact _____

Address _____

CITY STATE ZIP

Phone _____ Fax _____ Email _____

CREDIT CARD INFO: Visa MC Discover American Express

Name on card _____

Card #: _____ Exp. date: ____ - ____

CROSSTEX EARLOOP MASKS MINIMUM PROTECTION*

		\$/Box (2 box min per SKU)	Qty	\$/Case	Qty	TOTAL
Isolite Earloop	50/box; 10 boxes/case <input type="checkbox"/> Blue (GCLBL)___qty <input type="checkbox"/> Pink (GCLPK)___qty	\$13.75		\$111.75		

CROSSTEX EARLOOP MASKS LEVEL 1 PROTECTION*

		\$/Box (2 box min per SKU)	Qty	\$/Case	Qty	TOTAL
Isofluid Fogfree: 40/box; 10 boxes/case	<input type="checkbox"/> Blue (GCICXB)___qty <input type="checkbox"/> Sapphire (GCICXS)___qty <input type="checkbox"/> Topaz (GCICXZ)___qty <input type="checkbox"/> Turq (GCICXT)___qty	\$17.00		\$144.25		
Isofluid Earloop Bulk: 100/box; 5 boxes/case	<input type="checkbox"/> Blue (GCIBL100)___qty	\$23.25		\$111.50		
Isofluid Fogfree w/Secure Fit: 40/box; 10 boxes/case	<input type="checkbox"/> Blue (GCICXBSF)___qty	\$18.00		\$155.50		
Isofluid Earloop: 50/box; 10 boxes/case	<input type="checkbox"/> Blue (GCIBL)___qty <input type="checkbox"/> Green (GCIGR)___qty <input type="checkbox"/> Lav (GCILV)___qty <input type="checkbox"/> Topaz (GCITZ)___qty <input type="checkbox"/> Pink (GCIPK)___qty <input type="checkbox"/> Sapphire (GCISA)___qty <input type="checkbox"/> Teal (GCITE)___qty <input type="checkbox"/> Turq (GCITQ)___qty	\$14.75		\$134.25		

CROSSTEX EARLOOP MASKS LEVEL 2 PROTECTION*

		\$/Box (2 box min per SKU)	Qty	\$/Case	Qty	TOTAL
Procedural w/Secure Fit : 50/box; 10 boxes/case	<input type="checkbox"/> Blue (GCPBLSF)___qty <input type="checkbox"/> Lav (GCPLVSF)___qty <input type="checkbox"/> Pink (GCPPKSF)___qty	\$16.00		\$137.50		
Procedural Earloop: 50/box; 10 boxes/case	<input type="checkbox"/> Blue (GCPBL)___qty <input type="checkbox"/> Lav (GCPLV)___qty <input type="checkbox"/> Pink (GCPPK)___qty <input type="checkbox"/> Yellow (GCPYE)___qty	\$15.00		\$127.25		
Procedural Earloop: 100/box; 5 boxes/case	<input type="checkbox"/> Blue BULK PACK (GCPBL100)	N/A		\$112.50		

CROSSTEX EARLOOP MASKS LEVEL 3 (MOST PROTECTION)*

		\$/Box (2 box min per SKU)	Qty	\$/Case	Qty	TOTAL
Ultra Sensitive w/Secure Fit: 50/box; 10 boxes/case	<input type="checkbox"/> White (GCFCXSSF)___qty	\$19.75		\$175.50		
Ultra Sensitive Fogfree w/ Secure Fit: 40/box; 10 boxes/case	<input type="checkbox"/> White (GCFCXSFSF)___qty	\$27.50		\$211.25		
Ultra Sensitive Fogfree, Shield + Secure Fit: 25/box; 4 boxes/case	<input type="checkbox"/> White (GCPWSSF)___qty	\$55.00		\$218.25		
Ultra Sensitive: 50/box; 10 boxes/case	<input type="checkbox"/> White (GCFCXS)___qty	\$18.50		\$163.00		

CROSSTEX PATIENT MASK PROTECTION*

		\$/Box (2 box min per SKU)	Qty	\$/Case	Qty	TOTAL
Patient Safety Mask with Shield: 25/box; 8 boxes/case	<input type="checkbox"/> White (GCPAT)___qty	\$23.75		\$161.25		

*Made in the U.S.A. Crosstex masks sold by the box or case. Number of boxes per case vary as indicated. 2 box minimum per SKU.

Tax if in MI, NC, SC, VA

TOTAL

ASSORTED SUPPLIES

Call 877.484.6149 • FAX 517.484.5460 • associationgloves.com



Date _____

Name _____ Contact _____

Address _____

CITY STATE ZIP

Phone _____ Fax _____ Email _____

CREDIT CARD INFO: Visa MC Discover American Express

Name on card _____

Card #: _____ Exp. date: ____ - ____

AIR / WATER SYRINGE TIPS: sold by the case, bag or box as indicated

Brand	SKU	Description	# per box	Box price	Qty.	TOTAL
BeeSure	BE401	Air/water syringe tips, without core	250 per box	\$15.87		
BeeSure	BE402	Air/water syringe tips, with core	250 per box	\$22.85		
Brand	SKU	Description		Box/Bag \$	Qty.	TOTAL
Dynarex	DZ 2231	Air/water syringe tips, blue/clear, with core	250 per box SOLD BY BOX ONLY, 2 BOX MINIMUM	\$35.25		
Essentials	AWSM	Air/water syringe tips, metal, autoclavable	5 per pack	\$14.75		
Essentials	AWMCW-250	Metal core tips, plastic exterior	250 per bag	\$32.75		
Essentials	AWST	Air/Water Sani-tip style, separate air/water channels	250 per bag	\$34.50		
Essentials	AWPTC-250	Plastic core rainbow tips	250 per bag	\$35.00		

ARTICULATING PAPER/FOIL: sold by the box only

Brand	SKU	Description	Sold by box, 2 box minimum	Box price	Qty.	TOTAL
Crosstex	TPXT	X - Thin, Blue, .0015"/38 microns	12 Shts/bk; 12 bks/bx; 144 Shts/bx	\$9.75		
Crosstex	TPT	Thin, Blue, .0028"/71 microns	12 Shts/bk; 12 bks/bx; 144 Shts/bx	\$9.75		
Crosstex	TPTH	Thick, Blue, .005"/127 microns	12 Shts/bk; 12 bks/bx; 144 Shts/bx	\$9.75		
Crosstex	TPH	Red / Blue-Horseshoe, .0035"/89 microns	12 Shts/bk; 6 bks/bx; 72 Shts/bx	\$12.50		
Crosstex	TPP	Precisely True, thin, blue, .0005"/13 microns	12 Shts/bk; 12 bks/bx; 144 Shts/bx	\$12.75		

BARRIER FILM: sold by the case only

Brand	SKU	Description	# of boxes per case/# per box/# per case; \$ per box	Case price	Qty.	TOTAL
Dynarex	DZ 4488	4"x 6" Barrier Film, clear	8 boxes per case/1,200 sheets per box/9,600 per case; \$15.06/box	\$122.25		
Dynarex	DZ 4489	4"x 6" Barrier Film, blue	8 boxes per case/1,200 sheets per box/9,600 per case; \$16.81/box	\$135.50		

BITE REGISTRATION / IMPRESSION MATERIAL: (continued on following page)

Brand	SKU	Description	See individual entries for packaging qty	Price	Qty.	TOTAL
BeeSure		True Impression Tray, green <input type="checkbox"/> Quadrant (BE713SSQ) __qty <input type="checkbox"/> Posterior (BE714SSP) __qty <input type="checkbox"/> Sideless (BE715SSS) __qty	36 per box/20 boxes/case; 720 total Sold by case only	\$526.50 \$473.85		
Mimic		Bite Registration material, 2 per pack <input type="checkbox"/> Fast (BR-F) __qty <input type="checkbox"/> Reg (BR-R) __qty <input type="checkbox"/> Super-fast mint choc chip (BR-SF) __qty		\$19.00		

Subtotal	
Tax if in MI, NC, SC, VA	
TOTAL	

ASSORTED SUPPLIES

Call 877.484.6149 • FAX 517.484.5460 • associationgloves.com



Date _____

Name _____ Contact _____

Address _____

CITY STATE ZIP

Phone _____ Fax _____ Email _____

CREDIT CARD INFO: Visa MC Discover American Express

Name on card _____

Card #: _____ Exp. date: ____ - ____

BITE REGISTRATION / IMPRESSION MATERIAL: (continued from previous page)

Brand	SKU	Description	See individual entries for packaging qty	Price	Qty.	TOTAL
Essentials		Bite Registration Trays	<input type="checkbox"/> Anterior (BRTA) __qty (35/bx) <input type="checkbox"/> Full Arch (BRTF) __qty (30/bx) <input type="checkbox"/> Posterior (BRTP) __qty (50/bx) <input type="checkbox"/> Quadrant (BRTQ) __qty (35/bx) <input type="checkbox"/> Sideless Posterior (BRTS) __qty (50/bx)	\$14.00		
Mimic		VPS (Vinyl Polysiloxane) Impression Material 2 per pack	<input type="checkbox"/> Heavy Body FS (VPS-HF) __qty <input type="checkbox"/> Heavy Body RS (VPS-HR) __qty <input type="checkbox"/> Light Body FS (VPS-LF) __qty <input type="checkbox"/> Light Body RS (VPS-LR) __qty <input type="checkbox"/> Monophase FS (VPS-MF) __qty <input type="checkbox"/> Monophase RS (VPS-MR) __qty <input type="checkbox"/> Medium Body FS (VPS-RF) __qty <input type="checkbox"/> Medium Body RS (VPS-RR) __qty	\$19.00		
3D Dental		Disposable Impression Tray	<input type="checkbox"/> #10 Anterior, Lower dozen (IMAL10) __qty <input type="checkbox"/> #9 Anterior, Upper dozen (IMAU9) __qty	\$7.25		
3D Dental		Disposable Impression Tray 12 per bag	<input type="checkbox"/> #1 Large, Upper (IMLU1) __qty <input type="checkbox"/> #5 Small, Upper (IMSU5) __qty <input type="checkbox"/> #2 Large, Lower (IMLL2) __qty <input type="checkbox"/> #6 Small, Lower (IMSL6) __qty <input type="checkbox"/> #3 Medium, Upper (IMMU3) __qty <input type="checkbox"/> #7 Upper Left/Lower Right (IMLR7) __qty <input type="checkbox"/> #4 Medium, Lower (IMML4) __qty <input type="checkbox"/> #8 Upper Right/Lower Left (IMRL8) __qty	\$7.25		
Mimic		Alginate, 16 oz., dustless, mint scent	<input type="checkbox"/> Fast set (ALGFS) __qty <input type="checkbox"/> Regular set (ALGRS) __qty	\$15.00		
Essentials		Mixpac Mixing Tip 48 per bag	<input type="checkbox"/> Pink (MTPI) __qty <input type="checkbox"/> Purple (MTPU) __qty <input type="checkbox"/> Teal (MTT) __qty <input type="checkbox"/> Yellow (MTY) __qty	\$26.50		

COTTON ROLLS / COTTON TIP APPLICATORS sold by the case only

Brand	SKU	Description	# of boxes per case/# per box/# per case; \$ per box	Case price	Qty.	TOTAL
Dynarex	DZ 3250	#2 Medium Cotton Rolls	10 boxes per case/2,000 per box/20,000 per case; \$13.87 per box	\$136.50		
Dynarex	DZ 4301	3" non-sterile cotton tip applicators	10 boxes per case/1,000 per box/10,000 per case; \$3.62/box	\$36.75		
Dynarex	DZ 4302	6" non-sterile cotton tip applicators	10 boxes per case/1,000 per box/10,000 per case; \$5.85/box	\$59.25		

DENTAL BIBS: sold by the case only (continued on following page)

Brand	Description	Case price	Qty.	TOTAL
TIDI	13" x 18" 2 ply + poly 500 per case <input type="checkbox"/> Yellow (AVA 1050) __qty <input type="checkbox"/> White (AVA 1051) __qty <input type="checkbox"/> Teal (AVA 1052) __qty <input type="checkbox"/> Gray (AVA 1054) __qty <input type="checkbox"/> Mauve (AVA 1055) __qty <input type="checkbox"/> Peach (AVA 1056) __qty <input type="checkbox"/> Green (AVA 1059) __qty <input type="checkbox"/> Blue (AVA 1053) __qty <input type="checkbox"/> Lav (AVA 1057) __qty	\$32.75		
TIDI	13" x 18" 3 ply tissue + poly 500 per case <input type="checkbox"/> White (AVA 1081) __qty <input type="checkbox"/> Teal (AVA 1082) __qty <input type="checkbox"/> Peach (AVA 1086) __qty <input type="checkbox"/> Gray (AVA 1084) __qty <input type="checkbox"/> Mauve (AVA 1085) __qty <input type="checkbox"/> Lav (AVA 1087) __qty <input type="checkbox"/> Green (AVA 1089) __qty <input type="checkbox"/> Blue (AVA 1083) __qty	\$38.25		
TIDI	AVA 1080 13" x 18", 3 ply tissue + poly, yellow	\$41.75		
Crosstex*	19" x 13" Sani-Tab Bib Econo, 2-ply w/poly, Chain-free; 400 per case <input type="checkbox"/> Blue (WEXBLT) __qty <input type="checkbox"/> Dusty Rose (WEXDRT) __qty <input type="checkbox"/> Lavender (WEXLVT) __qty <input type="checkbox"/> White (WEXWHT) __qty	\$44.00		

*Made in the U.S.A.

Subtotal

Tax if in MI, NC, SC, VA

TOTAL

ASSORTED SUPPLIES

Call 877.484.6149 • FAX 517.484.5460 • associationgloves.com



Date _____

Name _____ Contact _____

Address _____

CITY STATE ZIP

Phone _____ Fax _____ Email _____

CREDIT CARD INFO: Visa MC Discover American Express

Name on card _____

Card #: _____ Exp. date: _____

DENTAL BIBS: sold by the case only (continued from previous page)

Brand	Description	Case price	Qty.	TOTAL
Crosstex*	19" x 13" Sani-Tab Bib, 3-ply w/poly, Chain-free ; 400 per case <input type="checkbox"/> Blue (WPXBTL)___qty <input type="checkbox"/> Dusty Rose (WPXDRT)___qty <input type="checkbox"/> White (WPXWHT)___qty	\$49.50		
Dynarex	17.75" x 12.875" 2 ply + poly, 500 per case <input type="checkbox"/> White (DZ 4491)___qty <input type="checkbox"/> Blue (DZ 4492)___qty <input type="checkbox"/> Mint green (DZ 4493)___qty <input type="checkbox"/> Mauve (DZ 4494)___qty <input type="checkbox"/> Lavender (DZ 4495)___qty	\$30.25		

DENTAL DAM: sold by the package only

Brand	Description	Package price	Qty.	TOTAL
Crosstex*	19500 Nitrile, 6" x 6", purple, peppermint-flavored 15 pieces per package	\$27.50		
Sanctuary	DN641E-FDSH0 Polyisoprene, 6" x 6", purple, mint-flavored 15 pieces per package	\$18.00		

DRINKING CUPS 5 OZ.: sold by the case only

Brand	Description	Case price	Qty.	TOTAL
Dynarex	5 oz. 20 bags of 50 1,000 per case <input type="checkbox"/> White (DZ 4236)___qty <input type="checkbox"/> Blue (DZ 4237)___qty <input type="checkbox"/> Mint green (DZ 4238)___qty <input type="checkbox"/> Mauve (DZ 4239)___qty <input type="checkbox"/> Lavender (DZ 4240)___qty	\$36.50		
Essentials	5 oz. 20 bags of 50 1,000 per case <input type="checkbox"/> Beige (PC-BE)___qty <input type="checkbox"/> Blue (PC-BL)___qty <input type="checkbox"/> Dusty Rose (PC-DR)___qty <input type="checkbox"/> Green (PC-GR)___qty <input type="checkbox"/> Lavender (PC-LV)___qty <input type="checkbox"/> Peach (PC-PE)___qty <input type="checkbox"/> Silver Gray (PC-SG)___qty <input type="checkbox"/> White (PC-WH)___qty <input type="checkbox"/> Yellow (PC-YE)___qty	\$29.75		

FLUORIDE VARNISH:

Brand	Description	Box price	Qty.	TOTAL
Dream	Fluoride Varnish (5%) 50 per box / 0.4 ml brush and paste on one tray, white <input type="checkbox"/> Bubble Gum (DFVBG)___qty <input type="checkbox"/> Caramel (DFVCM)___qty <input type="checkbox"/> Melon (DFVML)___qty <input type="checkbox"/> Spearmint (DFVSM)___qty	\$39.50		

GAUZE SPONGES: sold by the case or carton as indicated (continued on following page)

Brand	SKU	Description	# of boxes per case/# per box/# per case; \$ per sleeve	Case price	Qty.	TOTAL
Crosstex*	ENCNWU	2" x 2" Ultra Gauze Non-woven, 4-ply	200 per sleeve/25 sleeves per case/5,000 per case; \$3.91 per sleeve	\$97.75		
Crosstex*	ENCNWUB	2" x 2" Ultra Gauze Non-woven, 4-ply	200 per sleeve/40 sleeves per case/8,000 per case; \$3.69 per sleeve	\$147.75		
Crosstex*	ENC3NWU	3" x 3" Ultra Gauze Non-woven, 4-ply	200 per sleeve/20 sleeves per case/4,000 per case; \$7.38 per sleeve	\$147.75		
Crosstex*	ENC4NWU	4" x 4" Ultra Gauze Non-woven, 4-ply	200 per sleeve/10 sleeves per case/2,000 per case; \$12.47 per sleeve	\$124.75		
Crosstex	ENC100	2" x 2" UltraPure Non-woven, 4-ply	200 per sleeve/25 sleeves per case/5,000 per case; \$4.31 per sleeve	\$107.75		
Crosstex	ENC4100	4" x 4" UltraPure Non-woven, 4-ply	200 per sleeve/10 sleeves per case/2,000 per case; \$14.07 per sleeve	\$140.75		

*Made in the U.S.A.

Subtotal

Tax if in MI, NC, SC, VA

TOTAL

ASSORTED SUPPLIES

Call 877.484.6149 • FAX 517.484.5460 • associationgloves.com



Date _____

Name _____ Contact _____

Address _____

CITY STATE ZIP

Phone _____ Fax _____ Email _____

CREDIT CARD INFO: Visa MC Discover American Express

Name on card _____

Card #: _____ Exp. date: _____

GAUZE SPONGES: sold by the case or carton as indicated (continued from previous page)

Brand	SKU	Description	# of boxes per case/# per box/# per case; \$ per sleeve	Price	Qty.	TOTAL
Crosstex*	ENCNW	2" x 2" Premium Non-sterile, 4-ply	200 per sleeve/25 sleeves per carton. SOLD BY CARTON ONLY.	\$81.50		
Crosstex*	ENCNW4K	2" x 2" Premium Non-sterile, 4-ply	200 per sleeve/20 sleeves per case; 4,000 total; \$3.31 per sleeve	\$66.25		
Crosstex*	ENC3NW	3" x 3" Premium Non-sterile, 4-ply	200 per sleeve/20 sleeves per case/4,000 per case; \$7.08 per sleeve	\$141.75		
Crosstex*	ENC4NW	4" x 4" Premium Non-sterile, 4-ply	200 per sleeve/10 sleeves per case/2,000 per case; \$9.95 per sleeve	\$99.50		
Crosstex	ENCNWL	2" x 2" Advantage Plus Non-sterile, 4-ply	200 per sleeve/25 sleeves per crtn. SOLD BY CARTON ONLY.	\$62.75		
Crosstex	ENC3NWL	3" x 3" Advantage Plus, 4-ply	200 per sleeve/20 sleeves per case/4,000 per case; \$3.63 per sleeve	\$72.75		
Crosstex	ENC4NWL	4" x 4" Advantage, 4-ply	200 per sleeve/10 sleeves per case/2,000 per case; \$3.95 per sleeve	\$39.50		
Crosstex	ENCC	2" x 2" Premium cotton-filled, exodontia, 8-ply	200 per sleeve/25 sleeves per crtn. SOLD BY CARTON ONLY.	\$75.00		
Crosstex	ENACC	2" x 2" Advantage Plus cotton-filled, exodontia, 8-ply	200 per sleeve/25 sleeves per crtn. SOLD BY CARTON ONLY.	\$64.00		
Crosstex	ENCC3	3" x 3" Premium cotton-filled, exodontia, 8-ply	200 per sleeve/20 sleeves per case/4,000 per case; \$7.41 per sleeve	\$148.25		
Crosstex	ENCC4	4" x 4" Premium cotton-filled, exodontia, 8-ply	200 per sleeve/10 sleeves per case/2,000 per case; \$12.72 per sleeve	\$127.25		
Crosstex	ESCC	2" x 2" Premium sterile	200 per sleeve/25 sleeves per crtn. SOLD BY CARTON ONLY.	\$92.25		
BeeSure	BE1322	2" x 2" Standard Non-woven Sponge	200 per sleeve/25 sleeves per case/5,000 per case; \$1.12 per sleeve	\$31.25 \$28.13		
BeeSure	BE1344	4" x 4" Standard Non-woven Sponge	200 per sleeve/10 sleeves per case/2,000 per case; \$3.35 per sleeve	\$37.25 \$33.53		
BeeSure	BE1522	2" x 2" Premium Non-woven Sponge	200 per sleeve/25 sleeves per case/5,000 per case; \$1.40 per sleeve	\$39.00 \$35.10		
BeeSure	BE1544	4" x 4" Premium Non-woven Sponge	200 per sleeve/10 sleeves per case/2,000 per case; \$4.52 per sleeve	\$50.25 \$45.23		

GUMCHUCKS FLOSSING SYSTEM: sold by the case only (continued on following page)

Brand	SKU	Description	Contents	Case price	Qty.	TOTAL
GumChucks	170608	KIDS Starter Kit	1 set of 2 handles and 10 tip sets; 10 kits/carton	\$562.75		
GumChucks		Designer Handles Set: 1 set of 2 designer handles; 10 sets per case; \$8.10/set	<input type="checkbox"/> Camouflage (170611)__qty <input type="checkbox"/> Grey Argyle (170614)__qty <input type="checkbox"/> Molar Bear (170617)__qty <input type="checkbox"/> Flower Bees (170612)__qty <input type="checkbox"/> Old Skulls (170615)__qty <input type="checkbox"/> Pink Argyle (170613)__qty <input type="checkbox"/> Carbon Fiber (170616)__qty	\$81.00		
GumChucks	120100	Adult PRO FLOSS Starter Pack	1 set of 2 handles and 12 tip sets in a resealable bag; 100 per case; \$4.26/set	\$426.50		
GumChucks	123600	Adult PRO FLOSS 36 Ct Flossing Tip Refills	36 loose tip sets in a resealable bag; 150 per case; \$4.26/bag	\$639.50		

*Made in the U.S.A.	Subtotal
	Tax if in MI, NC, SC, VA
	TOTAL

ASSORTED SUPPLIES

Call 877.484.6149 • FAX 517.484.5460 • associationgloves.com



Date _____

Name _____ Contact _____

Address _____

CITY STATE ZIP

Phone _____ Fax _____ Email _____

CREDIT CARD INFO: Visa MC Discover American Express

Name on card _____

Card #: _____ Exp. date: _____

GUMCHUCKS FLOSSING SYSTEM: sold by the case only (continued from previous page)

Brand	SKU	Description	Contents	Case price	Qty.	TOTAL
GumChucks		ProTech Auto-Clavable Handles Set; aluminum with colored accents: 10 sets per case; \$51.85/set <input type="checkbox"/> Blue (716001)___qty <input type="checkbox"/> Green (716003)___qty <input type="checkbox"/> Purple (716004)___qty <input type="checkbox"/> Black (716002)___qty <input type="checkbox"/> Pink(716005)___qty		\$518.50		
GumChucks	716101	PRO TECH ORTHOgami Floss Box	200 loose Orthogami tip sets indiv. wrapped in resealable plastic box; 10 per case; \$32.95/set	\$329.50		
GumChucks	716200	PRO TECH Standard Tip Floss Box	200 loose tip sets indiv. wrapped in resealable plastic box; 10 per case; \$30.12/set	\$301.25		

GUMCHECKS FOR ORTHO PATIENTS:

Brand	SKU	Description	Contents	Case price	Qty.	TOTAL
GumChucks	715501	ORTHOgami Starter Kit	1 set of 2 handles 10 Orthogami tip sets; 10 kits/ carton, red	\$33.75/ carton		
GumChucks	161301	ORTHOgami Patient Sample Pack	50 Orthogami Samples; \$12.69/pack	\$634.50		

HAND SANITIZER: sold by the case only

Brand	SKU	Description	# of items per case; \$ per item	Case price	Qty.	TOTAL
Purell	1303-03	Advanced Green certified hand sanitizer gel Get (1) free wall-mount dispenser unit with each refill purchased. Free dispensers ship separately.	3 refills/case / 750 mL; \$16.08 per unit	\$48.25		
Provon	1343-03	Ultra Mild foam hand wash. Get (1) free wall-mount dispenser unit with each refill purchased. Free dispensers ship separately.	3 refills/case / 700 mL; \$20.16 per unit	\$60.50		

HEADREST COVERS: sold by the case only

Brand	SKU	Description	# per case	Case price	Qty.	TOTAL
Crosstex*		Polycoated Headrest Covers, 10" x 10": 500/case	<input type="checkbox"/> Blue (L0BL)___qty <input type="checkbox"/> Lav (L0LV)___qty <input type="checkbox"/> White (L0WH)___qty	\$51.50		
Crosstex		Non-Woven Headrest Covers, 10" x 10": 500/case	<input type="checkbox"/> Blue (L0CB)___qty <input type="checkbox"/> Lav (L0CL)___qty <input type="checkbox"/> White (L0C)___qty	\$51.75		
Crosstex		Non-Woven Headrest Covers, 10" x 13": 500/case	<input type="checkbox"/> White (L3C)___qty	\$64.75		
Dynarex	DZ 2153	9.5" x 11" Cover headrest, clear plastic	250 per box/12 boxes per case/3,000 per case; \$8.88/box	\$106.50		
Dynarex	DZ 2154	9.5" x 14" Cover headrest, clear plastic	250 per box/12 boxes per case/3,000 per case; \$9.85/box	\$118.25		

*Made in the U.S.A.

Subtotal

Tax if in MI, NC, SC, VA

TOTAL

ASSORTED SUPPLIES

Call 877.484.6149 • FAX 517.484.5460 • associationgloves.com



Date _____

Name _____ Contact _____

Address _____

CITY STATE ZIP

Phone _____ Fax _____ Email _____

CREDIT CARD INFO: Visa MC Discover American Express

Name on card _____

Card #: _____ Exp. date: ____ - ____ - ____

HVE TIP: sold by the case only

Brand	SKU	Description	# of boxes per case/# per box/# per case; \$ per bag	Case price	Qty.	TOTAL
BeeSure	BE301	High-volume evacuator tips, vented & non-vented; fits standard 11 mm suction holders; EcoGreen	100 per bag/30 bags per case/3,000 total; \$3.75 per bag	\$125.00 \$112.50		
BeeSure	BE306	Comfy high-volume evacuator tips, vented; fits standard 11 mm suction holders; EcoGreen	100 per bag/30 bags per case/3,000 total; \$5.21 per bag	\$174.00 \$156.50		

IMAGING

Brand	SKU	Description	# per pack/box	Box price	Qty.	TOTAL
Visionary	AT-0	Phosphor Imaging Plate - Type #0, use with Air Technique, 2 per pack		\$52.00		
Visionary	AT-1	Phosphor Imaging Plate - Type #1, use with Air Technique, 2 per pack		\$54.50		
Visionary	AT-2	Phosphor Imaging Plate - Type #2, use with Air Technique, 4 per pack		\$113.00		
Visionary	XR-21	IP-21 E Speed Film #2 Single	150 per box	\$45.00		
Visionary	XR-D58	DF-58 D Speed Film #2 Single	150 per box	\$38.00		
Visionary	XR-D57	DF-57 D Speed Film #2 Double	130 per box	\$47.75		
Visionary	XR-D54	DF-54 D Speed Film #0 Single	100 per box	\$35.00		

IMAGING COMFORT:

Prevents x-ray film and sensor abrasions	Box price (2 box min)	TOTAL
Crosstex Edge-Ease: 300/box. <input type="checkbox"/> Large Blue (BWEEB)___qty <input type="checkbox"/> Small White (BWEEW)___qty (2 box minimum)	\$50.00	
Crosstex Bite Wing-Ease w/cushioned barrier sleeve: 50/box. <input type="checkbox"/> Large White (BWEL)___qt <input type="checkbox"/> Small Blue (BWES)___qty (2 box minimum)	\$36.50	
Crosstex Wrap-Ease: 50/box. <input type="checkbox"/> Large White (BWWEL)___qt <input type="checkbox"/> Small Blue (BWWES)___qty (2 box minimum)	\$36.50	
Crosstex Slip-Ease <input type="checkbox"/> Small Blue (BWSSES)___qty <input type="checkbox"/> Large Yellow (BWSEL)___qty	\$33.00	
Visionary Barrier Envelope: 100/box. <input type="checkbox"/> #0 (XBA0)___qty <input type="checkbox"/> #1 (XBA1)___qty <input type="checkbox"/> #2 (XBA2)___qty	\$12.00	
Visionary Premium Barrier Envelope w/Extended Tab: 300/box. <input type="checkbox"/> #0 (XBAP0)___qty <input type="checkbox"/> #1 (XBAP1)___qty <input type="checkbox"/> #2 (XBAP2)___qty	\$29.00	

MICROAPPLICATORS:

Brand	SKU	Description	Sold by the box or case (as indicated below)	Case price	Qty.	TOTAL
BeeSure	BE503T	Micro-tip, fine, EcoGreen, tube	400 per box	\$17.00/ box		
BeeSure		<input type="checkbox"/> Cylinder dispenser pack, black/white (BE501D)___qty <input type="checkbox"/> Tube pack, black/white (BE501T)___qty	400 per box/20 boxes per case/8,000 total; \$9.45 per box	\$240.75 \$216.68		
Essentials		Micro-brush applicator, 4 tubes of 100/box <input type="checkbox"/> Fine (MAPF) ___qty <input type="checkbox"/> Regular (MARG) ___qty <input type="checkbox"/> Super-fine (MAPUF) ___qty		\$13.75		

Subtotal	
Tax if in MI, NC, SC, VA	
TOTAL	

ASSORTED SUPPLIES

Call 877.484.6149 • FAX 517.484.5460 • associationgloves.com



Date _____

Name _____ Contact _____

Address _____

CITY STATE ZIP

Phone _____ Fax _____ Email _____

CREDIT CARD INFO: Visa MC Discover American Express

Name on card _____

Card #: _____ Exp. date: _____

PEDIATRIC CROWNS: 5 crowns per box

Brand	Description	SKU	Box price	Qty.	TOTAL
Anterior					
Evolve	Anterior Crowns, Stainless Steel Primary Cuspid Upper	<input type="checkbox"/> EVACU1 __qty <input type="checkbox"/> EVACU2 __qty <input type="checkbox"/> EVACU3 __qty <input type="checkbox"/> EVACU4 __qty <input type="checkbox"/> EVACU5 __qty <input type="checkbox"/> EVACU6 __qty	\$21.00		
Evolve	Anterior Crowns, Stainless Steel Primary Central Upper Right	<input type="checkbox"/> EVACUR1 __qty <input type="checkbox"/> EVACUR2 __qty <input type="checkbox"/> EVACUR3 __qty <input type="checkbox"/> EVACUR4 __qty <input type="checkbox"/> EVACUR5 __qty <input type="checkbox"/> EVACUR6 __qty	\$21.00		
Evolve	Anterior Crowns, Stainless Steel Primary Lateral Upper Right	<input type="checkbox"/> EVALUR1 __qty <input type="checkbox"/> EVALUR2 __qty <input type="checkbox"/> EVALUR3 __qty <input type="checkbox"/> EVALUR4 __qty <input type="checkbox"/> EVALUR5 __qty <input type="checkbox"/> EVALUR6 __qty	\$21.00		
Evolve	Anterior Crowns, Stainless Steel Primary Cuspid Lower	<input type="checkbox"/> EVACL1 __qty <input type="checkbox"/> EVACL2 __qty <input type="checkbox"/> EVACL3 __qty <input type="checkbox"/> EVACL4 __qty <input type="checkbox"/> EVACL5 __qty <input type="checkbox"/> EVACL6 __qty	\$21.00		
Evolve	Anterior Crowns, Stainless Steel Primary Central Upper Left	<input type="checkbox"/> EVACUL1 __qty <input type="checkbox"/> EVACUL2 __qty <input type="checkbox"/> EVACUL3 __qty <input type="checkbox"/> EVACUL4 __qty <input type="checkbox"/> EVACUL5 __qty <input type="checkbox"/> EVACUL6 __qty	\$21.00		
Evolve	Anterior Crowns, Stainless Steel Primary Lateral Upper Left	<input type="checkbox"/> EVALUL1 __qty <input type="checkbox"/> EVALUL2 __qty <input type="checkbox"/> EVALUL3 __qty <input type="checkbox"/> EVALUL4 __qty <input type="checkbox"/> EVALUL5 __qty <input type="checkbox"/> EVALUL6 __qty	\$21.00		
Posterior					
Evolve	Posterior Crowns, Stainless Steel First Primary Molar / Lower left	<input type="checkbox"/> EV1LL2 __qty <input type="checkbox"/> EV1LL3 __qty <input type="checkbox"/> EV1LL4 __qty <input type="checkbox"/> EV1LL5 __qty <input type="checkbox"/> EV1LL6 __qty <input type="checkbox"/> EV1LL7 __qty	\$21.00		
Evolve	Posterior Crowns, Stainless Steel First Primary Molar / Upper Left	<input type="checkbox"/> EV1UL2 __qty <input type="checkbox"/> EV1UL3 __qty <input type="checkbox"/> EV1UL4 __qty <input type="checkbox"/> EV1UL5 __qty <input type="checkbox"/> EV1UL6 __qty <input type="checkbox"/> EV1UL7 __qty	\$21.00		
Evolve	Posterior Crowns, Stainless Steel First Primary Molar / Lower Right	<input type="checkbox"/> EV1LR2 __qty <input type="checkbox"/> EV1LR3 __qty <input type="checkbox"/> EV1LR4 __qty <input type="checkbox"/> EV1LR5 __qty <input type="checkbox"/> EV1LR6 __qty <input type="checkbox"/> EV1LR7 __qty	\$21.00		
Evolve	Posterior Crowns, Stainless Steel First Primary Molar / Upper Right	<input type="checkbox"/> EV1UR2 __qty <input type="checkbox"/> EV1UR3 __qty <input type="checkbox"/> EV1UR4 __qty <input type="checkbox"/> EV1UR5 __qty <input type="checkbox"/> EV1UR6 __qty <input type="checkbox"/> EV1UR7 __qty	\$21.00		
Evolve	Posterior Crowns, Stainless Steel Second Primary Molar / Lower Left	<input type="checkbox"/> EV2LL2 __qty <input type="checkbox"/> EV2LL3 __qty <input type="checkbox"/> EV2LL4 __qty <input type="checkbox"/> EV2LL5 __qty <input type="checkbox"/> EV2LL6 __qty <input type="checkbox"/> EV2LL7 __qty	\$21.00		
Evolve	Posterior Crowns, Stainless Steel Second Primary Molar / Upper Left	<input type="checkbox"/> EV2UL2 __qty <input type="checkbox"/> EV2UL3 __qty <input type="checkbox"/> EV2UL4 __qty <input type="checkbox"/> EV2UL5 __qty <input type="checkbox"/> EV2UL6 __qty <input type="checkbox"/> EV2UL7 __qty	\$21.00		
Evolve	Posterior Crowns, Stainless Steel Second Primary Molar / Lower Right	<input type="checkbox"/> EV2LR2 __qty <input type="checkbox"/> EV2LR3 __qty <input type="checkbox"/> EV2LR4 __qty <input type="checkbox"/> EV2LR5 __qty <input type="checkbox"/> EV2LR6 __qty <input type="checkbox"/> EV2LR7 __qty	\$21.00		
Evolve	Posterior Crowns, Stainless Steel Second Primary Molar / Upper Right	<input type="checkbox"/> EV2UR2 __qty <input type="checkbox"/> EV2UR3 __qty <input type="checkbox"/> EV2UR4 __qty <input type="checkbox"/> EV2UR5 __qty <input type="checkbox"/> EV2UR6 __qty <input type="checkbox"/> EV2UR7 __qty	\$21.00		

*Made in the U.S.A.

Subtotal

Tax if in MI, NC, SC, VA

TOTAL

ASSORTED SUPPLIES

Call 877.484.6149 • FAX 517.484.5460 • associationgloves.com



Date _____

Name _____ Contact _____

Address _____

CITY STATE ZIP

Phone _____ Fax _____ Email _____

CREDIT CARD INFO: Visa MC Discover American Express

Name on card _____

Card #: _____ Exp. date: _____

PRE-BENT NEEDLE TIPS:

Brand	SKU	Description	Sold by the bag	Case price	Qty.	TOTAL
Essentials	Pre-Bent Needle Tips, 100/bag, blunt ends	<input type="checkbox"/> Pink, 18 ga. (PBLN) __qty <input type="checkbox"/> Gray, 22 ga. (PBSL) __qty	<input type="checkbox"/> Black, 20 ga. (PBFL) __qty <input type="checkbox"/> Blue, 25 ga. (PBET) __qty	\$11.25		

PROPHY ANGLES (DISPOSABLE): sold by box or case as indicated

Brand	SKU	Description	\$/Bag	Qty.	Case price	Qty.	TOTAL
BeeSure	BE602RA	90 degree, EcoGreen, soft green cup	100 per box/5 boxes per case/500 per case	\$26.00 \$23.44	N/A	\$130.00 \$117.00	
BeeSure	BE601A	90 degree, EcoGreen, regular cup	100 per box/5 boxes per case/500 per case	\$26.00 \$23.44	N/A	\$130.00 \$117.00	
Biotrol	514650	Perfect Choice, purple	500 per bag/8 bags per case/4,000 per case	\$104.00		\$832.00	
Denticator		Original Green, 500 per bag/8 bags per case/4,000 per case <input type="checkbox"/> Original green, regular white cup (501250) __qty <input type="checkbox"/> Original green, soft green cup (501350) __qty		\$215.50		\$1,670.75	
Denticator		Original Green, 144 per bag/8 bags per case/1,152 per case <input type="checkbox"/> Original green, regular white cup (501214) __qty <input type="checkbox"/> Original green, soft green cup (501314) __qty		\$75.00		\$523.75	
BeeSure		105 degree, EcoGreen, 100 per box/5 boxes per case/500 per case <input type="checkbox"/> Regular white cup (BE605SA) __qty <input type="checkbox"/> Soft green cup (BE606SA) __qty		\$26.00 \$24.97	N/A	\$130.75 \$124.88	
Denticator	500572	Tapered Brush, ortho	72 per bag	\$49.50		N/A	N/A
Dream		Prophy Angles, 100 per pack <input type="checkbox"/> Firm (DPA100F) __qty <input type="checkbox"/> Soft (DPA100S) __qty				\$33.75	
Dream		Prophy Angles, 500 per pack <input type="checkbox"/> Firm (DPA500F) __qty <input type="checkbox"/> Soft (DPA500S) __qty				\$125.00	
Zooby	575050	5 assorted animal characters	500 per box/8 box per case/4,000 per case	\$231.50		\$1,766.75	
Zooby	57501	5 assorted animal characters	100 per box	\$58.50		N/A	N/A

PROPHY PASTE

Brand	SKU / Description	Box price	Qty.	TOTAL
Crosstex*	UPFBG Sparkle Prophy Paste, Fine, Bubble Gum, 2 box min	200 cups per box	\$33.50	
Crosstex*	UPMA Sparkle Prophy Paste, Med, Orange/Vanilla, Cherry and Mint, 2 box min	200 cups per box	\$33.50	
Crosstex*	UPCA Sparkle Prophy Paste, Coarse, Orange/Vanilla, Cherry and Mint, 2 box min	200 cups per box	\$33.50	
Crosstex*	Gluten-Free, Sparkle-Free Prophy Paste, Med, 2 box min <input type="checkbox"/> Cinnamon (UPSFMC) __qty <input type="checkbox"/> White Chocolate (UPSFMWC) __qty <input type="checkbox"/> Fruity (UPSFMF) __qty <input type="checkbox"/> Spearmint (UPSFMS) __qty	200 cups per box	\$33.50	
Dream	Prophy Paste Cups, Gluten-free Coarse grit, 200 per box <input type="checkbox"/> Pina Colada (PP-PC) __qty <input type="checkbox"/> Raspberry (PP-RC) __qty <input type="checkbox"/> Mint (PP-MC) __qty <input type="checkbox"/> Cherry (PP-CC) __qty		\$25.25	
Dream	Prophy Paste Cups, Gluten-free Medium grit, 200 per box <input type="checkbox"/> Pina Colada (PP-PCM) __qty <input type="checkbox"/> Raspberry (PP-RM) __qty <input type="checkbox"/> Mint (PP-MM) __qty <input type="checkbox"/> Cherry (PP-CM) __qty		\$25.25	
Dream	Prophy Paste Cups, Gluten-free, Fine grit, 200 per box <input type="checkbox"/> Bubble Gum (PP-BGF) __qty		\$25.25	

*Made in the U.S.A.

Subtotal

Tax if in MI, NC, SC, VA

TOTAL

ASSORTED SUPPLIES

Call 877.484.6149 • FAX 517.484.5460 • associationgloves.com



Date _____

Name _____ Contact _____

Address _____

CITY STATE ZIP

Phone _____ Fax _____ Email _____

CREDIT CARD INFO: Visa MC Discover American Express

Name on card _____

Card #: _____ Exp. date: _____

RESTORATIVE:

Brand	SKU	Description	Box price	Qty.	TOTAL
Joy		Joy-Fil Nano-Hybrid Composite Refill Compules <input type="checkbox"/> A1 (JFN-CA1) __qty <input type="checkbox"/> A2 (JFN-CA2) __qty <input type="checkbox"/> A3 (JFN-CA3) __qty .25 gm, 20 per package <input type="checkbox"/> A3.5 (JFN-CA3.5) __qty <input type="checkbox"/> B1 (JFN-CB1) __qty <input type="checkbox"/> C1 (JFN-CC1) __qty <input type="checkbox"/> D2 (JFN-CD2) __qty	\$35.00		
Joy		Joy-Fil Flowable Nano-Hybrid Composite Refill Syringe <input type="checkbox"/> A1 (JFN-SA1) __qty <input type="checkbox"/> A2 (JFN-SA2) __qty <input type="checkbox"/> A3 (JFN-SA3) __qty 4.5gm <input type="checkbox"/> A3.5 (JFN-SA3.5) __qty <input type="checkbox"/> B1 (JFN-SB1) __qty <input type="checkbox"/> B2 (JFN-SB2) __qty <input type="checkbox"/> C1 (JFN-SC1) __qty <input type="checkbox"/> C2 (JFN-SC2) __qty <input type="checkbox"/> D2 (JFN-SD2) __qty	\$27.50		
Joy		Flowable Refill <input type="checkbox"/> A1 (JF-A1) __qty <input type="checkbox"/> A2 (JF-A2) __qty <input type="checkbox"/> A3 (JF-A3) __qty <input type="checkbox"/> A3.5 (JF-A3.5) __qty 2gm / 4 per pack <input type="checkbox"/> B1 (JF-B1) __qty <input type="checkbox"/> B2 (JF-B2) __qty <input type="checkbox"/> B3 (JF-B3) __qty	\$30.00		
Joy	JB	Bond 7 ML bottle, 5th generation, hydrophilic, multi-use adhesive	\$45.00		
Joy	JE-12	Etch Gel, 37% phosphoric acid, 12 ML syringe	\$9.75		
Joy	JE-25	Etch Gel, 37% phosphoric acid, Bulk box of 25	\$60.00		
Joy	JE-4	Etch Gel, 37% phosphoric acid, 4 X 1.2ML syringe	\$12.75		
Joy	JE-50	Etch Gel, 37% phosphoric acid, 50ML syringe	\$25.00		
Joy	JE-50R	Etch Gel, 37% phosphoric acid, 50ML syringe refill	\$19.75		
Joy	JD	Desensitizer 7ML (Fast acting, long lasting, easy to apply)	\$40.00		
Mimic		Temporary Crown & Bridge material <input type="checkbox"/> A1/B1 (TCB-A1/B1) __qty <input type="checkbox"/> A2 (TCB-A2) __qty <input type="checkbox"/> A3 (TCB-A3) __qty 76gm / 10:1 / 5 tips	\$69.75		

SALIVA EJECTORS: sold by the case only

Brand	SKU	Description	# of boxes per case/# per box/# per case; \$ per bag	Case price	Qty.	TOTAL
BeeSure	BE201	EcoGreen, white fixed soft tip, iron- wire reinforced tube	100 per bag/40 bags per case/4,000 total: \$3.48 per bag	\$155.00 \$139.50		

STERILIZATION POUCHES: sold by the case or box as indicated (continued on following page)

Brand	SKU	Description	# of boxes per case/# per box/# per case; \$ per box	Case price	Qty.	TOTAL
BeeSure	BE1221	2.75" x 10.5" self-sealing, steam/ETO indicators	10 boxes per case/200 per box/2,000 per case; \$6.30 per box	\$70.50 \$63.45		
BeeSure	BE1231	3.5" x 10.5" self-sealing, steam/ETO indicators	10 boxes per case/200 per box/2,000 per case; \$7.38 per box	\$82.25 \$74.03		
BeeSure	BE1235	3.5" x 5.75" self-sealing, steam/ETO indicators	10 boxes per case/200 per box/2,000 per case; \$5.85 per box	\$65.00 \$58.50		

*Made in the U.S.A.	Subtotal	
	Tax if in MI, NC, SC, VA	
	TOTAL	

ASSORTED SUPPLIES

Call 877.484.6149 • FAX 517.484.5460 • associationgloves.com



Date _____

Name _____ Contact _____

Address _____

CITY STATE ZIP

Phone _____ Fax _____ Email _____

CREDIT CARD INFO: Visa MC Discover American Express

Name on card _____

Card #: _____ Exp. date: _____

STERILIZATION POUCHES: sold by the case only (continued from previous page)

Brand	SKU	Description	# of boxes per case/# per box/# per case; \$ per box	Case price	Qty.	TOTAL
BeeSure	BE1251	5.25" x 11.5" self-sealing, steam/ETO indicators	10 boxes per case/200 per box/2,000 per case; \$10.89 per box	\$121.50 \$109.35		
Dynarex	DZ 4460	2.25" x 2.75" self-sealing, indicators	25 boxes per case/200 per box/5,000 per case; \$2.79 per box	\$70.25		
Dynarex	DZ 4461	3.5" x 5.25" self-sealing, indicators	30 boxes per case/200 per box/6,000 per case; \$5.82 per box	\$175.25		
Dynarex	DZ 4462	3.5" x 9" self-sealing, indicators	20 boxes per case/200 per box/4,000 per case; \$7.35 per box	\$148.00		
Dynarex	DZ 4464	5.25" x 10" self-sealing, indicators	15 boxes per case/200 per box/3,000 per case; \$12.30 per box	\$185.00		
Dynarex	DZ 4465	7.5" x 13" self-sealing, indicators	5 boxes per case/200 per box/1,000 per case; \$23.40 per box	\$118.25		
Dynarex	DZ 4466	12"x16" self-sealing, indicators	5 boxes per case/200 per box/1,000 per case; \$41.45 per box	\$208.00		

Brand	SKU	Description	Available by box or case as indicated	\$/Box	Qty.	Case price	Qty.	TOTAL
Kangaroo	SP2x4-CS	2.25"x4" self-sealing, internal/ext indicators	10 boxes per case/200 per box/2,000 per case	\$9.75		\$53.00		
Kangaroo	SP2x9-CS	2.75"x9" self-sealing, internal/ext indicators	10 boxes per case/200 per box/2,000 per case	\$10.50		\$60.00		
Kangaroo	SP3x5-CS	3.5"x5.25" self-sealing, internal/ext indicators	10 boxes per case/200 per box/2,000 per case	\$10.50		\$60.00		
Kangaroo	SP3x9-CS	3.5"x9" self-sealing, internal/ext indicators	10 boxes per case/200 per box/2,000 per case	\$10.50		\$60.00		
Kangaroo	SP5x10-CS	5.25"x10" self-sealing, internal/ext indicators	10 boxes per case/200 per box/2,000 per case	\$14.50		\$106.00		
Kangaroo	SP7x13-CS	7.5"x13" self-sealing, internal/ext indicators	10 boxes per case/100 per box/1,000 per case	\$16.00		\$120.00		

STERILIZATION WRAPS: Strong, tear-resistant, cost-effective, sold by the case only

Brand	SKU	Description	# of boxes per case/# per box/# per case; \$ per bag	Case price	Qty.	TOTAL
Halyard	37046	12" x 12" H100, blue	100 sheets per bag/10 bags per case/1,000 total; \$5.60 per bag	\$56.00		
Halyard	37047	15" x 15" H100, blue	100 sheets per bag/10 bags per case/1,000 total; \$9.00 per bag	\$90.00		
Halyard	37049	18" x 18" H100, blue	100 sheets per bag/10 bags per case/1,000 total; \$13.92 per bag	\$139.25		
Halyard	37050	20" x 20" H100, blue	100 sheets per bag/10 bags per case/1,000 total; \$14.65 per bag	\$146.50		
Halyard	37051	24" x 24" H100, blue	100 sheets per bag/5 bags per case/ 500 total; \$18.40 per bag	\$92.00		

SURFACE WIPES: sold by the case only

Brand	SKU	Description	# of boxes per case/# per box/# per case; \$ per item	Case price	Qty.	TOTAL
Biotrol	400018	Opti-Cide ³ cleaning wipes; surface disinfectant; 2-minute dwell time	100 wipes per canister/6 canisters per case/600 wipes total; \$11.91 per canister	\$71.50		
PDI	Q5 5172	Super Sani-Cloth	160 wipes per canister/12 canisters per case/1,920 wipes total; \$8.63 per canister	\$103.50		

*Made in the U.S.A.					Subtotal	
					Tax if in MI, NC, SC, VA	
					TOTAL	

ASSORTED SUPPLIES

Call 877.484.6149 • FAX 517.484.5460 • associationgloves.com



Date _____

Name _____ Contact _____

Address _____

CITY STATE ZIP

Phone _____ Fax _____ Email _____

CREDIT CARD INFO: Visa MC Discover American Express

Name on card _____

Card #: _____ Exp. date: _____

SURGICAL TIPS:

Brand	SKU	Description	# per bag	Case price	Qty.	TOTAL
Essentials		Surgical tips, 25 per bag <input type="checkbox"/> Green 1/4" (ASP14) __qty <input type="checkbox"/> Blue 1/16" (ASP16) __qty <input type="checkbox"/> White 1/8" (ASP18) __qty		\$8.00		

TOOTHBRUSHES: sold by the case only

Brand	SKU	Description	# of boxes per case/# per box/# per case; \$ per bag	Box price	Qty.	Case price	Qty.	TOTAL
Plak Smacker	10240	MINTBURST® PREPASTED TOOTHBRUSH prepasted with Xylitol toothpaste (green, orange, yellow, purple and pink assorted colors)	144 per bags/10 bags per case/1,440 per case	\$29.50		\$201.00		
Plak Smacker	10234	MINTBURST® PREPASTED TOOTHBRUSH (green, orange, yellow, purple and pink assorted colors)	144 per bags/10 bags per case/1,440 per case	\$27.75		\$201.00		
Plak Smacker	30050	Kids Suction Brush, suction cup base, 5 colors	144 per bag/10 bags per case/1,440 per case	\$82.75		\$636.00		
Plak Smacker	10008	Adult V-Trim brush, co-molded handle bristles in red, blue, green and purple	144 per bag/10 bags per case/1,440 per case	\$45.25		\$340.00		
Plak Smacker	30046	E-Junior toothbrush, smiley face on head; purple/blue, green/blue, pink/green/ orange/ yellow	144 per bag/10 bags per case/1,440 per case	\$38.50		\$281.00		
Plak Smacker	20023	E-DeLux toothbrush, white handle with blue, pink, yellow, purple grip colors	144 per bag/10 bags per case/1,440 per case	\$45.00		\$335.00		
Dynarex	DZ 4861	Adult 30 Tuft	10 per sleeve/6 sleeves per box/24 boxes per case; 1,440 per case; \$0.57 per sleeve			\$82.50		

TOOTHPASTE: sold by the case only

Brand	SKU	Description	Items per case; cost per item	Case price	Qty.	TOTAL
Dynarex	DZ 4872	Toothpaste	1.5 oz. tube / 144 per case; \$0.33 per tube	\$47.50		
Dynarex	DZ 4873	Toothpaste	2.75 oz. tube / 144 per case; \$0.49 per tube	\$71.00		

TRAY COVERS & TRAY LINERS: (continued on following page)

Brand	Description Sold by the case only	Case price	Qty.	TOTAL		
TIDI	8.5" x 12.25" <input type="checkbox"/> White (AVA 1201) __qty <input type="checkbox"/> Mauve (AVA 1205) __qty <input type="checkbox"/> Lav (AVA 1207) __qty <input type="checkbox"/> Green (AVA 1209) __qty "B" Flat, 1,000 per case	\$28.75				
Brand	SKU	Description	Sold by the carton (continued on following page)	Carton price	Qty.	TOTAL
Crosstex*	FBC	Liquid-Proof Bracket Tray Cover, B-Ritter	500/carton	\$36.75		
Crosstex*	FF	Liquid-Proof Bracket Tray Cover, F-ADEC	500/carton	\$33.50		

*Made in the U.S.A.	Subtotal	
	Tax if in MI, NC, SC, VA	
	TOTAL	

ASSORTED SUPPLIES

Call 877.484.6149 • FAX 517.484.5460 • associationgloves.com



Date _____

Name _____ Contact _____

Address _____

CITY STATE ZIP

Phone _____ Fax _____ Email _____

CREDIT CARD INFO: Visa MC Discover American Express

Name on card _____

Card #: _____ Exp. date: _____

TRAY COVERS & TRAY LINERS: (continued from previous page)

Brand	SKU	Description	Sold by the carton or box	Carton price	Qty.	TOTAL
Crosstex	BCTS1014	10.5" x 14" Tray Sleeves, clear plastic	500/box	\$29.50		
Crosstex	BCTS710	7.5" x 10.5" Tray Sleeves, clear plastic	500/box	\$37.50		
Crosstex	BCTS1114	11.625" x 14.5" Tray Sleeves, clear plastic, Size B Ritter	500/box	\$40.25		
Crosstex	BCTS1116	11.5" x 16" Tray Sleeves, clear plastic, Midwest-Weber	500/box	\$42.50		

OTHER:

Brand	SKU	Description	Unit price	Qty.	TOTAL
Crosstex	BCXR	X-ray Sleeve for camera, clear plastic	250/box. 2 BOX MINIMUM	\$32.25	
Crosstex	NBG	Impervious Barrier Gown, lt blue	10 per bag. One size fits all; \$2.30 per gown. 2 BAG MINIMUM	\$30.50	
Crosstex	DP365B10	DentaPure® 365-day Independent Water Bottle Cartridge**	10 per case; sold by the case only	\$2,126.25	
Crosstex	DP365M10	DentaPure® 365-day Municipal (City) Water Cartridge**	10 per case; sold by the case only	\$2,126.25	

Brand	SKU	Description	\$/Box	Qty.	Case price	Qty.	TOTAL
3D Dental	PL-FCS or PL-FCS Case	Full chair sleeve, 29" x 80"	125 per box/3 boxes per case/375 per case	\$37.25	\$93.00		
3D Dental	PL-HCS or PL-HCS Case	Half chair sleeve, 27.5" x 14"	225 per box/3 boxes per case/675 per case	\$30.25	\$74.00		
Essentials	Syringe sleeve 2.5" x10"	<input type="checkbox"/> Blue (PL-SSBL)___qty <input type="checkbox"/> Clear (PL-SSCL)___qty	500 per box		\$10.00		
Pristine	PRST-UT	Ultrasonic enzyme tablets	64 per box		\$29.50		
VidaShield	VS01	Ultraviolet air cleansing fluorescent or LED tubes for infection control; replaces standard ceiling light fixtures			\$1,895.00		
VidaShield	VS03	Ultraviolet air cleansing for infection control; no down light; replaces standard ceiling light fixtures			\$1,895.00		

*Made in the U.S.A. Subtotal

**Special order: arrives in approximately 2 weeks from purchase Tax if in MI, NC, SC, VA

TOTAL